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Time : Three hours . 7 -M‘aximum 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN questiQﬁs.
1.  Define — ‘dperations Réseai‘ch".
Glav\u_mi)um'_@,\' < TTUES cuaTwIg.
2. Mention any two featﬁres of Operations Research.

Qewdur @ sprmiEfsadar .q@g,@nb" @Qreamr®
Quieoyseer efleufl.

3. What is Linear Programming?
Cg‘r_r,rﬂlﬁeb ﬁr;mrré;ascb GTETDITE Greo'rm? {
4: Define ‘Optimum Solution’,
2 5hs Siay - @J@wgu-{
5. What is Slack Variables?
WhSLOTE MPIGET eTemmmed GTabme ?
6. What is Feasible Solution?

grgdluinmer ey eTempTed 6Taben ?



7.  Define ‘Transportation Problem’.
. ‘Guffé;@@.luggj &S mdﬁ@gj.
8 Whﬁt is 'VAM?
‘VAM’ creipmed erebren 2
9. ,What isUA’L\ssivg\nment Pi:oblém?
@gég&;@ Qpégenen erenpmed ereime ?
10. Who alje Players?‘ R
’dﬁ]’mﬁuﬁnﬁ@ 'vaﬁ;;dT w9 |
11. Whét is pure stfatggy?

‘ST 258 ereiDTed eréiren 2

12. What is Saddle Point?
Goamd Lyeiraf ér%s;r;prrsi» qcbf@?‘
PART B — (5 x 5'= 25 marks)
Apswer any FIVE qéxestions.
13. Whaf are the advantages 'of:"'Modlé"ls?

wrfsefer pereoser wranas?’
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24.

t
M .

For the game with the following Payoff matrix,
determine the optimum strategies and value of the
game.

) 1
Py
3 4
vwer  oflenerey  ieflujLer  sigw  Spsramibd
AevarwumligHamer 2_5lhG eLp Gev LT réi en e
Siroraflésab. ' Mg
P,
5 1
P,
3 4
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14,

15.

Use Simplex method: to solve

.Minimize 2z = x; +2x, +3x3
Subject to constraints :

%, + 2%, + 3%, <10

3c1\+‘x,2 55, , b
xl +x2 +,x3 2 0. ' ' . ' i
srall@wWTEsd papow LLaLESS G@Dpés
z = %y + 2%, +3%3 -

Qeme(mLd. F@LsEHSEL UG,

Xy +2%, +3x, < 10

. x1+x255: .
X+ %, +%5 20, -

Determine an initial basic feasible solution to the

following - \V.-transportation problem’ ‘usl‘in‘g
North—West Corner method = = ‘
w X N Z Availability
A 5 3 6 2 19
4 7 9 1 37
C 5 4 T 6 34
Demand- 16 18 31 25 90
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Spai(pd ;@urrés@mm@ Arésmande L s@ -
Cupe oo efideus vweru@ss oy
O SlgliueL srguinrar Sieveu Hliorallssan. ,

W' X Y Z @ouug

A 5 3 6 2 19
B 4 7 9 1 317
C 5 4 7 5 34
Gganau 16 18 81 25 90

16. How' should the salesmenbe allocated to the
counters so as to minimise the total service time? -

0 Salesmen e
A B C D
W 41 72 39 52
Cqunter's X 2I2 29 49 65
Y 27 39 60 51
Z 45 50 - 48 52
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Stores
Workers I II 111 IV Availability
C 6 | 4 4 3 12
D 4 -1 4 2 19
Reqpirex?ént 21 25 17, 17, 80

Gaursoaller - Campmu.  gpepedw  Lweu®ss |
\ Spsrapd TP &ssmer SiguuemL 28565 Shaeu

SRS _
eGrmireo

Camawrcsear | II Im IV Bouug

A 5 1 3 3 ' 34

B 3 3 5 4 15

C 6 4 4 3 12

D 4 =f 4 2 19
Coenau 21 25 17 17 80
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ANEQs. omfllllar  seooeair @b 5@
QL Lsmyiseiar Hlawmu @sss Cauar@b. ibs
Hlenavaarfied

\Gereu (HLomml.
%I'_I_"ﬂGU)GUSSQ'T
I II 111 v Vv
P 40 40 35 25 50
Q 42 30 16 -25 27
DL ETTT&ET

R 50 48 40 60 50
S 20 19 20 18 25
T 58 60: 59 556 53
Sflauls reEaT QeErH&@Ew auensudev

UL SMIISERES, L Hlavasamen seambHiysambd.

23. Obtain an initial basic feasible solution to the
following T.P using .the Vogel's approximation
method.

Stores
Workers I II 111 IV Availability
A 5 1 8la "3 34
B 3 3 5 4 15
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U LSS TEef 6 gyrefl gensen

17.

18.

Qurgs  Came Cprsms G@PEGL  amsuild
aeueuny eflpueeanunarisemar alpLmar sl SHDE
REISGHITD ?

cdlpueneTwimenit
A B C D
AW 41 72 39 52
FnL_Lb X 22 29 49 65
Y 27 39 60 51
Z 45 50 48 52

What are the differences between Transportation
Problems and Assignment Problems?

Curs@aursg  Grssmarser  LHHID  @FISEE
Wrseamans@rsiaLw 2 drer GaugurGiser wrenes?

Solve the following 2 persons zero-sum game :

Player B
15 2
Player A
6 5
=7 4
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19.

20.

21.

Spaumid . @y pufra;éiT Lpgaws iy
anemuwim_igenen Sirdis.

leverwr._ B &Syt B

15 2 3
edlepemwimc_H
=7 4 0

Explain the rule for determining a Saddle Point.
Geantid I_|61;I'6TﬂGU)U_I Siorafs@n efldsamer edleu.
PART C — (3 x 10 = 30 marks)
| Answer an; THREE questions. '

What are the advantages and limitations of
Models?

wréflsafen paranoaem LOHMID G@DUTOSET Wreae ?
By using Simplex method, solve the equation :
le + .’JC2 = 1
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cafleburésd weapow uvwauGss  Epeunmd

goarrla STés.

X +2% =5

22. The captain of a cricket team has to allot five

middle batting positions to five batsman. The
average runs scored by each batsman at these

positions are as follows :

Batting Positions

I II I 1v
P 40 40 35 25 50
Q 42 30 16 25 27
Batsman :
R 50 48 40 60 50
S 20 19 20 18 25
Ty 58 60 59 55 53

Find the assignment of batsman to positions

which would give the maximum number of runs.
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